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eTRad H | %%@ AT shl HaTd el Teld =1l &7
/W hich of the following 1s the highest mountain peak of the Himalayas in India?
S.S.C. AFATE HTaeh Tl (T-1) 31 ﬁ%/?l@l? 2016 (11- 9Tt

e

(a) 2se T2/ Mt. Everest

/(b)(;;l Sk |V/ Kanchenjunga
(c) - qad l(Nanga Parbat
(d) aT <dt /Nanda Devi




SSC CHSL 2022-23

Q.2, FHIAREd H & -/ FaIT aIfetd ol 82

/

Which of the following are young-fold mountains?

\/ (a) 3!/ The Aravalis

/(b) AR/ The Nilgiris
(C)K%mwy The Himalayas

%1) H@T@/kfhe Sahyadri
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Q.3 AL T8 20T & &1 2 IS o S Ut 2iofi 2 -

The Himalayas are formed of parallel fold ranges of which the oldest range 1s-
d

N o L (A) ferarfeteh &1/ The Shivalik Range

(B) <¥ [RATeT/ The Lesser Himalayas

/ (C) DLARINDE M}The Great Himalayan Range

) TATIR T /Th/e Dhauladhar Range
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Q.4 IRd o FHAfIRad ¥ ¥ o9 91 HiMifetes foTeH i fSaitishattsy § 999 9
Jél:ll qT?

Which of the following physiographic divisions of India was formed out of

accumulations 1n the Tethys geosyncline?

% (aﬁ%m@The Himalayas '//
(b) 3T ﬁ'él? /Northern Plains

(¢) YT TR /The Indian}}z‘sert
(d) SUURh | 9 &g &l /None of the above
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Q.5 AT ST T i FHEIAL SR et a1 2| Hefetiad | |
e I 20T 3T AT I T 22
The Himalayas consist of three parallel ranges in 1ts longitudinal extent.

Which of the following 1s the name of the northern-most range?

H T g 7
Q lﬁg/gr < (a1 %ﬂ'@ﬂ TI; Himadri

? (b) W/The Himachal
jT‘iq/—“
\g (¢) RETeT/The Shivaliks
bivalile /

/

© qgl'T?lFf/ The Purvanchal
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Q.6 TRTAREA H i< €T Feid ZEetl WK, UTiehed ™ R =1 o Hedl g5 82
Which of the following mountain range €xtends to India, Pakistan and China?

(a) 3WEcdl/ Aravali
/ (b), FRTHIH /Karakoram
(C)LWNilgiris
(d) 9dYsl/ Satpura

OO\
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Q.7 g i gadl waledt wad =, K-2, frmforfia # @ forer weia st o feord 22
/ K-2, the world's second highest mountain peak, 1s located on which of the
following mountain ranges?

4

(a) 9K USIIo1/ Pip Panjal

(b) c>hl(lchlil-l /Karakoram

/ (¢c) derd/ 7dakh

(d) SIT&hY/ Zaskar
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Q.8 In which state 1s the Nanda Devi peak located?
/"ldl ad| 1=l|d| |°|'>H s ﬁ&%%?

" S.S.C. AT Hash &’ (T-1) 31 Fdsi, 2016(11 qTedl)

/ (a) Himachal Pradesh/ feAT=eT Ja31

/ (b) Uttar Pradesh/3T¢ I3
(c) Uttarakhand/ 6rl{|{9i:>

/ (d) Slkklm/ﬁ%'_q
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Q.9 The mountain range which divides the Northand the South India 1s -
/T 3R 3 TRAOT T Sl - i S e et 27 (GM.}
016/(11- UTeil)

S.S.C. AT H1ae T (T-1) 11 THder, 2

—

(a) Himalayas / feHTeT / /

(b) Western Ghats / qierHt g1

/(c)\Vindhyi e /

(d) Satpura / GdYsST
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Q.10 Which of the following 1s the oldest mountain range?
fefeTiad 5 & Jer8 IUHT Taid S@e SiF-61 § 2 e
S.S.C. AT AU, 14 fHdiey, 2017 (11- dredl)
S.S.C. 3T CHSL (T-I) 18 rn%f wnmtfﬁ)

(a) Satpura/H?lTl—éT /

© Hlmalaya/ [SHTT

(d) Nilgiri /AR
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Q.11 Mount Jopuno i1s situated in which of the following states?
A3 ST fTetiad # & forg s 5 e 82

S.S.C. 3THeET CHSL (T-1) 9 3T, 2021 (I11- 9Tedl)

——

-

e
(2) Andhra Pradesh /?@'ﬂ
A&7 Sikkim / feferpn /
(¢) Himachal Pradegh / AT JasT
(d) Uttarakhand/3AUES
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Q.12 Mount Abu 1s a hill station located in ranges.
9 N C o QA ¢ .
e AT, ST eh oIl €A &, Shi--6l geid e 9T feord 82
S.S.C. AR H1deh Tl (T-I) 9 fadsr, 2016 (11- 9rei)

/

N

L‘\ ez (a) Vindhya/fiem  _~
e (b) Satpurda / FATET S

m //(C)LAravali%TlaFﬁ /

(d) Sahyadri / @enfs /
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Q.13 Which of the following 1s NOT one of the three parallel ranges of the

Himalayas 1n its longitudinal extent?

ﬁHfE«iﬂqq T ¥ hIH-H ciead Toed hl §I8 | TeHTer ahi 19 THHIaL AR | § Tah

T ? S.S.C. 3T CHSL (T-I) 9 W/OZ 1 (111-97e)
Q\ — ~

/ <>@

b) Himachal/[&H=rel

'0“"[__@
S

/ ¢) Himadri / fRHTS

/(A) Shiwaliks/RRTaT(cTeh
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Q.14 Where 1s Arakanyoma, a range of Himalayan mountains located?

/%‘T!T'théﬁ?ﬁ Ueh AU SR AT hal U 2 2

e

A. ®|Q’||('\CN‘('||"|/B3,10 histan

B.3i )Myanmay?
/ v

C W/N epal
D.%ﬁ@@/Thalland
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Q.15 In which part of India are the Patkai Boom hills located?
GZHhTS STH UBTISAT HILd o ford W7 ¥ féorq &2

/- -

-

A. YA % 39 9T/ Northern Part of India

/ B. WA o S0t 91T / Southern Part of India

/ C. YT o UIYHT 91T / Western Part of India

7

\/W%Tﬁ HIT / Eastern Part of India
/
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Q.16 TR, WTET 3T SAf=q vetTiedi fore Tsa § R g 2

In which state are the Garo, Khasi and Jaintia hills located?

4
.WMeghaliyy

4 B.ﬂﬁ@/ Manipu /

C.BIOC{II/ Tripura /
D.3AY9H/Assam
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Q.17 There are three mountain ranges that determine the boundary between India
and Myanmar —

T Ua RITAR o o 1 [Heir s et 9 g i @ -

A JTohiE quT SEAET
Patko1 and Arakan

B.3TcLlg Ueid %itq:?l\é mountain
C.3e feamsfen &/Great dividing range

D.gqﬁ o} ﬁ?ﬁ ﬁ/ﬁo/rje of the above

5

-
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Q.18 Kangchenjunga, the second highest mountain peak of the Himalayas, 1s

located 1n which state of India?
/T%qu T THT oY T 9 d 37X shadsi Uid & foha osa O g 2 2

A.3HH/Assam /

B.31dU@s/Uttarakhand /

A e Sikkim R/
al Pradesh

D .feq=t Ue¥/Himac
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Q.19 Shivalik range was formed by —
e ST <hT THI0T F3T -

/

NN

q1STgh/ Eozoic

J[STlgh/Paleozoic

HHISIEh/Mesozoic

D\Q 2l WI\I$°h/Cenoz@
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Q.20 Kullu Valley is situated between the following mountain ranges-
/maﬁ ffeTRad uaa SR o i srafkerd @ -
~

e

—

A[ETATIR qT 9RUsTTel//Dhauladhar and Pir Panjal

/ B 0TS QT AMTIEsaT/Ranjyoti and Nagtibba

C TG qYUT YUsTel/Ladakh and Pir Panjal

? D. 9] [RHTE a1 RRarteis/Middle Himalayas

and Shivaliks
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Q.21 In 1498 AD, which Portuguese explorer discovered a new sea route from Europe
to India?
1498 3. |, Tohe IaTTTedT ST=ateh = T H WA oh (1T Ueh 7T st 71T shi @IS shl off 2
S.S.C. 3HeEd CHSL (T-1) 25 SHe, 2017 (I-9Tedl)

e

(a) oll%chllslj\/asco da Gama

=i ohl;éfl ¥/Christopher Columbus

7w
? (c) Wméﬁ"/&r francis drake

d) ST @hise/John cobot
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Q.22 Which of the following English officers defeated the Portuguese at Sowiley?
ARG H ¥ fohe SFUST SATehRT 7 aTTieral oh Tled! (Sowiley) o €T W &L
IqT? S.S.C. AT Hidsh Tl (T-1) 11 54, 2019 (11-9Teft)

2
/

(a) TATTIH BITohTT _‘/Wiuiam Hawking
) Wa@ﬂhomas Best
(¢) T U / Themas Roe

@) SR =Tées / Josiah Child
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Q.23 Where did the Portuguese explorer, Vasco da Gama, die in 15247
VAT TIStehet, TRl <1 T 6t 97 1524 H el 8% off 2

- // S.S.C. AT MTS (T-1) 21 , 2019 (1-9Tedl)

—_—

/ (a)l‘qﬁ'f\t_d//l(;@

©)) s/ Trivandrum
(¢) HTeA/Mangalore
(d) #T T4/ Srirangapatna

AN
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® TATTTeAT WISTehel STEehl St T 1 Hcg 1524 5. |
hifed H g8 offl ToH TS ekl St THT WRA
gt} ae 9T fEuq sewg Fiefiehe W 20 |, 1498 i
gl ShICilehe o Tcohlci RMTHeh ST o SEehl
ST TR

®* The Portuguese explorer Vasco da Gama died in
Kochi in 1524 AD. The first Portuguese Vasco da
Gama reached Calicut, a port on the west coast of

India, on May 20, 1498. The Zamorin, the then
ruler of Calicut, welcomed him.
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Q.24 Fort Saint Louis was a in Pondicherry on the eastern coast of India.
/ﬁ‘éﬁ?c@éﬁﬂ Ueh fehedT o, SIT T o Yeff q¢ 9L gite=r H ferd o)
— S.S.C. FAFARH(CHSL (T-I) 16 31T, 2021 )(1-9TedT)

—

/)a) (IFDrenchbe"i'Fﬂ'Fl(T
(b) Danish / T Y

(¢) British/ Bl
(d) Dutch / €=
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* BI HE RE Th WHiHE! fehetl o, S
W o it d¢ OX dife=rl § f&rd o
®* Fort St. Louis was a French fort

located 1n Pondicherry on the east
coast of India.
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Q.25 Who were the first among the following to establish trade relations with India?

/Trfaiiad 5 @ forer Felom TR o @1l SATIR Eee Tid fohg o

- —  S.S.C. 3AFATET CHSL (T-1) 24 SHel, 2017 (11- 9Tedl)
J——

(a) The Dutch / €9
/ (b) The French /i€l
/ (¢) The English/gReTst

/ d) \”fhe Portugu@
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* JUUR TTTHAT H HTH JaTTel SATATET § WA | TH{seh ATk s
woifi B [hU| YT ﬁwgﬁrﬁc‘fﬁ T R @ STeHieT T 1509 3.
4 i W TR S [Tl i 9T SATRIeRI oh ETe &1 Ioied| (68 HeTEri
W HeTd TThRITT 81 T qaimierdr 3 &g HE™IR € 8 olel s3I 0
T ST {oTdT| T F&T § TS STel 3T STETSI © st oh ¥l hll

* The Portuguese traders were the first among the European powers to

establish maritime trading centers in India. Francisco de Almeida,
the first Portuguese viceroy in India, took over Diu in 1509 AD.
With the possession of Diu, the Portuguese became the most
powerful force in the Indian Ocean. The Portuguese monopolized the
trade through the Indian Ocean. And collected tax from other ships
passing through here.
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Q.26 The 'Blue Water Policy' was introduced by the Portuguese leader :
]ﬁ?-ﬁgﬁmﬁ%lﬁ'@q\qlaqﬁﬁﬁ“@ﬁﬁ? @\\@/

S.S.C. 3THATE HIdeh 0 (T-1) 29 3T, 2016 (111-9TeT)

—

_

é@ranscisco de Almeida/SiTeehl S IcHIE]

% (b) Alfonso deAlbuquerque/3TTHiE! Sl Heslshen

/(c) Francis Caron/Seifad shis
d) Francis Martin/Sie& HTie-
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Q.27 British East India Company defeated the Portuguese in the
S STSAT U] F YHTTICTAT ohi Tohel I H &UET 9T 2

/

o fofesT 3% Sfear ol o
qTTieal sl Garell o I6
(1612) H 2T ol

® The British East India
Company defeated the

Portuguese at the Battle of
Suvali (1612).

(a) Battle of Chamkaur / STHhI I I&
(b) Battle of Plassey / WiTET &1 I

(c) Battle of Buxar / I8 sl &
)IBattle of Suval?( gl T I

/d

S.S.C. AT HTdeh T (T-1) 29 3T, 2016 (I1-9TedT)

|

|
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Q.28 In which year did the Portuguese capture Goa ?

Y e 9T Yot 3 31feenr T foram? Gl
] (¢
///7 S.S.C. AT HIdeh T (T-1) 9 HI=, 2020 (I- TTeiT)

)

I

(a) 1610 AD/1610%.
(b)&SlOAD/lSlO
/ c) 1540AD/1540§

/ d) 1475 AD/1475%.
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® 1510 . H T 9 qTITT + SRR 3L fofar | deehie i
AT IS T STABE] € 3Teslehah o SS9 & IMEh J9F
> N\ “\ O\ \ > \(D\ N
TSR oh! GUTSTd SR AT UT SR ez o)

®*In 1510 AD, the Portuguese captured Goa. The then
Portuguese governor, Alfonso de Albuquerque,

captured Goa by defeating Yusuf Adilshah, the ruler
of Bijapur.
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Q.29 Which of the following was the first fort built by the East India Company in

India?
/3‘1:3 sfear shut 3 va 7 HHferfaa 3 @ shiF-91 ugart forett sHemm ot 2
e S.S.C. e-ﬁ:wsﬁ MTS (T-1) 5 W@H- qrel)
—_— / — //

7

ka) ®IC He SitSt /Fort St. George

/ (b) ®I fafer™@d/Fort William
?(c) il wid/Sewri Fort
(d) wgﬁqzqn/ Masulipatnam

=
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o forfenT See Sfear St 9 YA H 9=t fohclT B Ee
SISt I=Tg H SFIRET 9T I8 3% S(SAT hu-T ohl
SR <he 9|

® The first fort in India was built by the British
East India Company at Fort St. George In

Chennai. It was the trading center of the East
India Company.
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Q.30 o5& oy JHUSH 3 1T SHUHT, AR H Tt ST I g5 off 2

In which year the English East India Company first appeared in India?
S.S.C. A MTS (T-1) 5 3T&d, 2019 (II- 9Tait)

(a) 1498

/ (bylels
e
/ (d) 1650
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o fafoyr st sfear ot @ wfafAfy
[IfeTaH Biish=ar 1608 §. W HIIeT SITaRIE
= ITH STIT 1)

* William Hawkins, a representative of
the British East India Company,

came to the Mughal emperor in 1608
AD.
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Q.31 In which Indian city did the East India Company first landed?
e sfea ot fohe Wt 918t H Teed o 3 2

S

L:S\)\«é‘g\ (a) Calcutta/shcTehdl
/( (b) Bombay /Wé/
Wy /

(c) Madras / 919 /

\/(d) Surat / §{d
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* SE ST T o FETAH A H 1613
3. H T &9 € Ueh Sl T 11U 61|

®* The East India Company first

established a factory permanently in
Surat in 1613 AD.
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Q.32 The Battle of Bedara was fought between the British Army and the Dutch Army

n .
/ [STTe3T OAT 3T S U1 o §f19 9gl ol I (Battle of Bedara) el ISl 71T AT ?
— S.S.C. AT CHSL (T-I) 11 3T&d, 2021 (11- 9TedT)
pad

<

J

/ (c) 1764
(d) 1760
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o fsrfesT BT TR &= 941 & 9 9
IE 1759 . H TSI 71 91| 39 Ig H S
GRTISIA §C ST WA | k! i iaerd
RN RIE

®* The Battle of Bedra was fought in
1759 AD between the British Army
and the Dutch Army. The Dutch were
defeated 1n this war and their

activities in India came to an end.
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Q.33 The first English factory was set up on the banks of the river in 1651.
/&’Qvﬁ ST Jaett theredl shl TATIHT 69 1651 | &t o TR <At 715 off|
P S.S.C. AT MTS (T-I) 18 3R, 2021 (111- uTeiT)

e - T

/(a) Hugli/gef / /

/b) Narmada / TH&T
(c) Mandovi / Higdl
(d) Godavari / TeTail
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* USRI TET kel shl TATIAT & 1651 H AT
Tt o fope <t g oft| Shut o TR I O 3AuAT
T TATd | T AT hl 3T ST H ek el
ST 9Tl 39 $heredl H IS T, STel Haid g+ Jre!
<fISTT sl ST TR STTaT el

® The first factory was established by the British in
1651 on the banks of the Hooghly River. The
traders of the company used to run their work from
here. These traders were called 'Factors' in those
days. There was a warehouse in this factory, where
the things to be exported were stored.
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Q.34 Where in India was the first French factory established?
Pl Y Ul Ther Skl Shgl TATiUd ohl 775 off 2
~

- // S.S.C. AT T Tal ™ (T-1) 31 W, 2016 (I11- 9TeT)

/‘
/ —

(a) é:lrat / Fl@

/ / (b) Pondicherry/dife=r’
/ (¢) Chandannagore / & AR

(d)Masulipatnam/AgTIETH
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A

* THiH o TSI I3 =I1agdl o Wil shicsie NI 1664 3. H The S shuH|
ol TATOAT g3, 18 shuft 98 $a8 SfifEe® et Tl 1667 3. °
SHITE hU o Adcd H Ueh ANRM gl WRA o [0 T 831,
ST 1668 3. H GXd H 319 U8 SATATIE ShILE T 2hi TATIHT |
1669 3. H HEATEHH H TaLl HiEe it TTiud =i TS|

®* The French East Company was established in 1664 AD by
Colbert, the minister of King Louis XIV of France, which was
called 'Company des Indes Orientales'. In 1667 AD, an
expedition led by Francis Caro left for India, who established
his first trading factory in Surat in 1668 AD. In 1669, a
second French colony was established at Masulipatnam.
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Q.35 If the force on an object is in the direction of motion of the object, then the
otion of the object 1s

i Teret e TR ST T STt & ARNGEEAREEIR R & 1 T

SSC HAMATS &Taeh T (T-1) 22 W&, 2017 (111 - 9redt)

/—

/ (a) Increases / Sedl 8 /
/ (¢) Decreases/&H BIdl &
(b) Stops /&% STTdT & / /

(d) No effect/ hIg I Tal
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* 9fg IS I & AT T AT T § TET S ©, 9 39
SIeT ST T (acceleration) 3cd=T BT AT ] ol

T s ST

* If a force 1s applied in the direction of motion of the

object, then acceleration will be produced due to this
force. That 1s, the speed of the object will increase.
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Q.36 Motion of a train 1s an example of

/E?mraﬁr?mpﬁrﬁr ST Teh ISTE0T 2
S.S.C. 3Heed CHSL (T-1) 24 SHa, 2717 (1-9Teil)

(a) Rotatory motion/ EIﬁ;f
/ (b) Spin motion/HT k|
?(c)\}’roj e’ctile motion / T&T T
%&/) Translatory motion/&dT k|
/
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® Teh B W@ H THITAR FHY o 91 $A G
Al SEq I T TAMIGOT AT WA T
(Translatory Motion) shaeiidl HIRSE ?Ff CARIK]
TTHIALOT TTfd BTt 2

®* The motion of an object in a straight line

continuously changing its location with time 1s
called translational motion. Hence, the speed of
the train 1s the transfer speed.
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Q.37 The rating for a fuse used 1n a household electric circuit 1s provided on the

basis of:
/A ferera wftaer & wRIT foh ST Aot WISt o foTT qewreh (M) % STem
9T Y& ehl STt = S.S.C. AT HIaeh Wi (T-1) 9 1=, 2020 (11-9T1ef)

—_—

(a) Resistance / SITRL
©)) Voltage

(c) Power/ |o|<a|c| 3Tk

// © Current %I?J?f g
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* TS Ush YL&TcH Jieh &, ST foh Toh d o ohs o
&9 H 4 i a1t enfeaes UerY § SERIT ST
2| B forera afeaer 5 SRINT # AT ST aTel RIS o6
T e LT o oy o STTER 9 Al STt &

* A fuse 1s a protective device, which 1s made 1n
the form of a piece of wire from a metallic
material with a low melting point. The rated
rating for a fuse used in a domestic electrical
circuit 1s based on the current.
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Q.38 Electric motor converts energy into mechanical energy.
YA HIex SS1l 3l AT Hell | ST 2
S-S-C. AT HTdeh T (T-1) 11 3FTEd, 2017 (I1- UTedl)
o
(a) Sound/ S IE]
/ (b) Mechanical/ I

(@
NIRIEES

/ (c) Chemical!
Electricityf%ﬁ\]i
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* oIl HICY, Tore[d SSil ohl Fifoieh Hstt H TN i el
~\ ~ . (o ¢ O (@ N
IR gl TH A hHedl § fagd o &ikd i T
s o\ N 2 (a . [} QA [
JehiT gat o e W el T oRd-lehid I I
R HA AT 2, Fore® I8 3101 gl o gH e 2 39

EUI 7Tt o ATIeh ShTal o ST H AT I 2

® An electric motor 1s a device that converts electrical

energy into mechanical energy. In this, on passing an
electric current 1 the armature coil, the
electromagnetic-magnetic force pair acts on the coil
placed between the magnetic poles, due to which it
starts rotating on 1its axis. This rotational motion 1is
used for mechanical work.
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Q. 39 Rust needs three components to occur, 1.€.

/ ST & oh T4 19 51ceh B a9 id ©, Sl & |

— S.S.C. AT Hidsh TR’IT (T-1) 6 5T, 2019 (11- ITeit)

(a)Helium, Hydrogen and Nitrogen / ISR Slsg\lvld
/ GEIEIECISE

(b) Iron, Nitrogen and moisture/ <1g, 7 S2IST T ATl

(c) Steel, Iron and Oxygen / ¥IdT, SIGEIRGIESISE
(‘\

/d{ Iron, Oxygen and Moisture| S8, TSI qAT 3Tadl
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® ST RISl TR Tl formiy ot SleT 3Tfe o
a9 BT &, S I IR AT AT T HATE
(Moisture) & Gush ¥ ATdT 21 39 fohaT ¥ &g W
AT T ohl SATHATES (TR HTHFATES) ehl TLd &
STt 21 A8 STETSE Fe, 0, % &9 | 8IdT 2

® The process of rusting occurs on metals,
especially iron, etc., when 1t comes in contact
with air 1.e. oxygen and moisture. In this
process a layer of red colored oxide (iron
oxide) 1s formed on the 1ron. This oxide occurs
in the form of Fe, O,.
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Q.40 The motion of a horse cart 1s an example of which principle of physics?
=1 1Tt <kl Tfer ifereh o forer fergia o1 SereTor 2 2
/,‘ ~ . N\
S —~ SSC: AR FitSd GD 1 HTH, 2019 (I - e

v

/(ﬁ) ¢ et i f=H/Newton's thifd law of motion
(b) 3T =T 9H/Ohm's law/
OELEIEESEIREEAR /ﬁrC/h)rﬂedes' principle
) I G| Wﬁ'ﬂﬂ/Avogadro's law
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® I % Tl o TTEL - o STTEWR, e TR 31 THIT
SIS AR Tl Sldfsham Bidt 1 =Sl el o A H,
ETST AW ol TeTd §T AU YT ol Uiey ol TS H eeiehal
21 =9 fram o1 & ufomaeesy, ST g B I Rl
faem H ehcd] 8@ STid IET A * T F Jdid
[SRAHTTETE TTid 3c= Bt ol

* According to Newton's third law of motion, for every

action there 1s always an equal and opposite reaction.
In the case of a horse cart, the horse kicks its leg in a
backward direction, pressing against the ground. As a
result of this action force, the ground pushes the
horse in the forward direction 1.e. motion 1s generated
here according to Newton's third law of motion.
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Q.41 To what color 1s blue litmus converted by acid?
(o MEANGN @aN N O . N INBANE\
/H—cfl fiet forewa =1 forer &1 o et < 22
S.S.C. 3AHTsT CHSL (T-1) 18

/

(a) @l/green
/ @
A=
/ ) T pink
/ (d) ST/ colorless

=
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o gt 3TFAT Rl AT foTeHa U= ¥ E9eh U™ ST, o
g it @1 & fTeny o &l A1 o 2d 3| forene
ST STFAT 9T &1 <hl U9 ahl STl 31 &
T8 o o [T AT fAeHd 9 S=IRT § T
ST &, Fifeh &K AT [1eHE o TT ahl T ot

<dT 2l

* All the acids, 1f contacted with litmus paper,

turn blue colored litmus paper red. Acids and
bases are 1dentified by litmus. Red litmus paper
1s used to identify alkali, because alkali turns
the color of red litmus blue.
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Q.42 The common name of Hydrogen Peroxide 1s

/Eusg\m-l RIFETSS ST TTETOT ATH 7 B2
P S.S.C. 3 HSL (T-I) 21 SHaT, 2017 (NITedD)

b [a/ \s) Borax/ ST

M (b)zBleach (liquid)/ sfi=r ()
/ (c) Baking soda / St arer”
/) Gypsum / TS
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® TSN ULFHTSS ol GTERUT ATH scildl AT [aisTeh ol Tohd
TETdl ¥ T Tt 378 & i ol TS ohiaT (Seli=iT) shad
2l TSN WSS (H,0,) T 95d Boehl A, It & o
T 24 8, ST Udd Ot § e feEdT 2| 398 AT o Jeiel
T I ® 3R AT Tk Rl foRSieh 81 SEeRT YART Tk
[SrEishTHeR TMTURITESh, ATl AT Tehel H JUMIeeh & &9 §
ERISIGIN

®* The common name for hydrogen peroxide 1s bleach.

Removing color from colored substances to make them white
is called bleaching. Hydrogen peroxide (H202) 1s a very pale
blue, slightly thicker liquid than water, which appears
colorless in dilute solution. It has strong oxidizing properties
and 1s a powerful bleaching agent. It 1s used as a disinfectant,
antiseptic, oxidizer and as a propellant in rockets.
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.43 Nitric acid does not react with

/-1|5|¢oh T AR ﬁﬁfm“ﬂ%m SATTRAT ST LT 27

. — / D
S.S.C. 3THeET CHSL (T-1) 21 SHeT, 2017 (1-9Ted!)
_ —_— T ————
/_\

(éGold/FarUf )

/ (b) Copper / Tl
4 (¢) Zinc / ST&AT
/

(d) Iron / SATET
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* T (Gold) TmTIaaT foredt et & foram
FAT 8, Afehd T8 3TA-TS (Aqua Regia), ST
foh 1 9T ATE(eh 0 9T 3 UNT SRSl
v ST THEI0T BIAT &, H BT § T5hT ik B
ST 81 SWIh [aehedl § AT3fish 3TFd @Ul &
TR 317 Teft & AT =

® Gold generally does not react with any acid,
but 1t dissolves rapidly in aqua regia, which 1s
a mixture of 1 part nitric acid and 3 parts
hydrochloric acid. In the above options, nitric
acid reacts with all but gold.
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Q.44 What will be the formula of fructose?

/wa\ﬂ T 1 ST BT 2

-S.S.C. TSI CHSL (T-I) 21 ST, 2017 (1-9Te!)

—_—

(a) C,Hy, Oy
/ (b)CeH .06 )

(c) C,H ;TL04
(d) CH,,Oq

ANN
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* %S (Fructose) 1 THMIh &

C.H,,0, %W%@%nﬁ@ésrrs@% S s

Bl H URIT SITdT 81 el ST, Ueshlad
TYST 3AR T FARIC e &l

® The chemical formula of fructose 1s
CH,,O,. It 1s a monosaccharide found
in sweet fruits. Fructose 1s soluble in
water, alcohol or ether.
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Q.45 The largest source of pollution in the world 1s
/%%Tﬁw hl H®|H SISY bll(‘l °|'>|"| Xl %(7
S S.S.C. 3AHcITET HIdeh Tl (T- 1)27341T{~—cr 2016 ( I-9Ted)

—

(a) Herbicides and insecticides / SRS
3T e

(b) Automobile exhausts/ TGS 9
|"|°|')Q'1"| dlcl %13:”
/ © gewage and garbage / ST AR w

(d) Industrial effluents/ Eﬁ?ﬂﬁ@" CIREIE
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® B, W AT ST shl Wifeioh, @M qAT SHoieh
Fr?aﬂﬁﬁ\oh SIS ST, ST HFH AT GO Sl
o S{Ie ol FHAHTISI 2L, TEI0T FHEeATal 2 g &
ey oSl Eﬁ?f el 3R ?m'_cl'{T (Sewage and
Garbage) HGHUT =hl %, S ST, ollg?f?JTEIETFﬁ:ﬁﬁ
EEEGEZGIN

® An undesirable change in the physical, chemical

and biological characteristics of air, land and
water, which may adversely affect the life of
human beings or other living beings, is called
pollution. The biggest source of pollution in the
world 1s sewage and garbage, which pollutes all
three water, air and soil.



SSC CHSL 2022-23

Q.46 Which of the following gas, 1f present in the atmosphere, 1s recognized by 1its

mell?
fretafad 0 @ sia- /g afe grdrerer & |1, a1 379 7% o 0T Ig=T- STt 27
_ S.S.C. AMTET CHSL (T-1) 10 SHaRT, 2017 (T11- 9Tedt)

(a) $¥/Ethane

?(bmsmfur dioxide

(c) Slsg\lvld/Hydrogél

? (d) CACERCICIERS] 2S/Carbon monoxide
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* JoRl TEIHEES, Ueh [EREH Aifien =l
ST TERIh ¥ SO, 8 | I 310 sl 719 o
SHTLOT STATINOT | YSHHT STt 21 I8 Teh o1&ur

fodeft e ], S o i St ST=Nfes ikt

T QT SATAHRIAT g Heherd! o

® Sulfur dioxide 1s a chemical compound. Its
chemical formula is SO,. It 1s recognized in
the environment due to its strong smell. It 1s
a pungent toxic gas, which is released in
many industrial processes and by volcanoes.
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Q.47 Heart attack 1s caused by-
T o 4 T BT BT &-
R _

/
%
~

S.S.C. C.P.O.S.L 5 [, 2016 ( 1- 9Tl

—_— —

€) ST /Bacteria
(b) dR¥FITH/Virus

(c) BT o Txh ATYId shi HT /Lack of blood
supply to the heart

(d) AT 0T U &€& oh hld A | &11d/Loss of
function of the heart due to unknown reason
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o foT o T AATA BT (Heart attack) ﬁ?l’gf
% U Thd AR Hioield g 371 Ius
TSl o ST & SH § g gHAT § Th &
R U SITAT & TAT IGH T[Skl o SATdeh
SR Tehivl 1 STd 8| $Heh TNUMTHEEY gad aeh
Th AR | HHT & S 2

®* In heart attack 1.e. heart attack, blood clots
reach the heart arteries due to rashes from

fibrous tissue and accumulation of
cholesterol and other lipid substances and the
inner gates of the vessel become narrow. This
results in decreased blood supply to the heart.
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Q.48 In mammals the oxygenated blood enters the heart through
/T | SRS I T CECORRENERGIR
— SS:E AFATRT MTS (T-I) 17 Tdsr, 2017 (1- 9Tet)

— \

(a) T 31|r%i<i/right atrium

Q (b);?llq &fa;/‘eft atrium

(c) €T} ﬁ?l'q/rlght ventricle

/(d) a7 et/ left ventricle
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* TATHTIAT H TSRS Ieh Toh T R & &
T YA AT Bl ged H I8 o6 Afele (Left
Atrium) T Ja3T LT 2| 3k a1g o8 HeT (Left
Ventricle) wﬁaﬁgqsrﬁt%ﬁﬁq:r 3T deh
qg <l gl

* In mammals, oxygenated blood enters the heart
from the pulmonary vein. In the heart 1t enters
the left atrium. After this, 1t reaches the
different parts of the body through the left
ventricle.
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Q.49 Both erythrocytes and leukocytes are formed in

/ TeIETEeH aﬁtwomwsw e ERCERRS

S.S.C. JAHATSH HTdeh Tl (T-1) 11 3TTEd, 2017 (I11- Tet)
/ S.S.C. FHET MTS (T-1) 21 fdsit, 2017 (1- uret)

/thymus

/ © %mﬁzﬁ?ﬁ ST / walls of arteries
4@) THIME/lymph node
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* TRYTETSSH, TIhHIHTSLE TAT TIHLH oh AT
AR Heol (Bone Marrow) T Bar gl
TRYEEEH sl AT T ShIUMR,  STelih

N N o N\
I IHTSLE hl Ad Th ShiUTehT hed ol

* Erythrocytes, leukocytes and platelets are
formed in the bone marrow. Erythrocytes are
called red blood cells, while leukocytes are
called white blood cells.
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Q.50 'Thrombin' 1s important for which of the following physiological processes of
the human body?

SATfrTT TS TR AT e J & forer eien wishar o foTe weeaqui &2

/
_ ~ C.P.0.S.I. 4 [, 2016 ( 1- UTeA)

—

(a) YT=lH/digestion
/ b) Ed bl STHAT /blood clotting
/%c) Y /respiration
4 (d) HAIcESH/excretion
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* TTEST T T SR Yok o STH o foTT 3TTeveeh 2idT 2
MMt IHsh 9erd o G290 & fouw faerfia 'K

JATIIAH BIdT 2l TR h efeh o shl fsham O Mgfifee,
TrgiifterIst USTEH ahl SURYfd H #iftsM (Thrombin) H
giafdd gidr 2l

® Prothrombin 1s essential for blood clotting upon 1njury.

Vitamin K 1s essential for the synthesis of a substance
called prothrombin. In the process of blood clotting,
prothrombin 1s converted into thrombin 1n the
presence of the enzyme prothrombinase.
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Q.51 1s a hormone that regulates the amount of glucose in the blood.

ShHIF-GT ST Th § TR shl |1 T ahdT 22

~ )

-
= C.P.0.S.1. 4 5, 2016 ( 1- TTeth)

@

(¢) Oxytocin / CICTE I FAILSE]
(d) Insulin / Gt

() Glucogen/‘cflc\oh\ldd
? (b) Thyroxine / SIDREEE]

—
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* §qic™ (Insulin) Th EMM 8, &1 3cdred
ST H RR9d ol g6eh! STUehTAl (Islets of
Langerhans) =hl &f{a (B) SRR AT BT &
g SIS | ITehUT ohT o0 T 2l STeh! St |

4 7yHg (Diabetes) 19k T &l ST 2

* Insulin is a hormone produced by the beta (B)
cells of the 1islets of Langerhans in the

pancreas. It regulates the sugar in the blood.
Its deficiency causes a disease called
diabetes.



